Homework 1-a, for 9/24. Math 1514, fall 2010. Deadline 10/6
but you should work on these before next monday so that the TA will have
' something to do.

(1) Consider the following set:
A={geQlg®>2,q>0}
Show that smallest element in 4 does not exist.

(2) Show that for any distinct rational numbers r < 1/, there is r” € @
go that r < 7" < 7.

(3) Let B = {1/n|n € Z,n > 0}. Find inf £ and sup E (with proof) in
Q.

Do the problems 2, 5 in page 22 of Rudin.
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Homework 1-b, for 9/27. Math 151A, fall 2010. Deadline 10/6

(Try to start working on it before you see Edward.)
(1) Read 1.14, 1.15, 1.16. (nothing to submit.)

(2) do 8 in p22. (for now just using your knowledge on C from old classes:
just {a + bila,b € R} and products, sums, inverses are as you know.)

(3) Let F = {0,1,2} be a set. We define operations + and - by the following
table:

FlofiT2) - Jlof1j2]
ofoji|2]iofojolo
Lj1{270] 10112
2 02/011]|2]0]2]1

Show that F is a field but cannot be an ordered field.
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Homework 1-¢, for 9/29. Math 151A, fall 2010. Deadline 10/6

(1) Let A € R (in the sense of "cuts”.) let — A := {p € Q|3r € Q50 so that (—p—
ry ¢ A}. Show that -4 € R.

(2) Show that AB as defined in the class, for A, B > 0%, is a cut.
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